MSv h

1m) 1cm 50cm
9:09 00 3 00 3 00 3
H
4 17 9:48 o 00 3 00 3 00 3
1 @3 it 00 3 00 8 00 3
9:10 008 00 3 00 3
H
5 29 9:49 o 00 3 00 3 00 3
1 B4 it 00 8 00 8 00 3
9:52 00 3 00 9 00 3
H
6 26 1 @5 o 00 3 00 8 008
1 10 it 00 3 00 8 00 8
1 @0 00 3 00 3 00 3
#|
7 94 1 ®5 i 00 3 008 00 3
1 BO it 008 00 3 008
9:46 008 00 3 00 3
955 00 8 00 8 00 8
#
8 30 1 @0 i 00 3 00 3 00 3
1 15 it 008 00 3 00 8
9:20 00 8 00 8 00 9
9:16 00 3 00 3 00 3
H
9 25 951 o 00 3 00 8 00 3
1 @9 it 00 8 00 3 00 8
1 @5 00 3 00 8 00 3
H
1024 951 o 00 3 00 8 00 3
9:08 it 00 8 00 8 00 3
9:20 008 00 8 00 3
H
1120 953 o 00 8 00 3 00 8
1 @0 it 00 3 00 3 00 8
9:26 00 8 00 3 00 8
H
1218 1 @2 o 00 8 00 3 008
1 @5 it 0090 000 000
9:15 00 8 00 3 00 3
H
129 9:50 o 00 8 00 8 000
1 @0 it 00 4 000 00 2




19

9:31

00 8

00 8

00 &

1 @9

009

0.0 3

0.0 3

1 D2

00 8

00 8

00 3

26

9:43

00 8

00 8

00 8

109

0.0 8

0.0 3

00 3

1 &9

00 &

00 8

00 &

M Sv/

0.0 3u6Sv/ h
0.0 3u6Sv/ h
0.0 3u7Sv/h
0.0 3u6Sv/ h
0.0 3u7Sv/h
0.0 3u7Sv/h
0.0 3u7Sv/h
0.0 3u8Sv/h
0.0 3u8Sv/h
0.0 3u7Sv/h
0.0 3u7Sv/h
0.0 3u6Sv/ h




